I first uploaded the data to R. 
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Next, I run logistic regression on cancer as outcome variable, and the rest of the conditions are the independent variables. 
Here is the formula: 
[image: ]

Here is the output:
[image: ][image: ]
Based on the model, I selected the conditions that are statistically significant in the model to be included in the overlap and the common odd ratio accordingly. 
Below is screenshots of my SQL codes.
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| -- Calculating the Common 0dd Ratio

£l SELECT sum(a*d/(atb+ctd))/sun(b*c/ (atbictd)) As [Common Odds Ratio]
| into #0ddsRatio

FROM #Cases inner join #Controls

ON #Cases.[I305_1] =#Controls.[I305_1]

#Cases.[I309_81] = #Controls.[I309_81]

#Cases.[IE849_7]= #Controls.[IE849_7]

#Cases.[1150_9]= #Controls.[I150_9]

#Cases.[I530_81]= #Controls.[I530_81]

#Cases.[1263_9]= #Controls.[I263_9]

#Cases.[1787_20]= #Controls.[I787_20]

#Cases.[1272_4]= #Controls.[I272_4]

#Cases.[1280_9]= #Controls.[I280_9]

#Cases.[I486_]= #Controls.[I486_]

#Cases.[I578_9]= #Controls.[I578_9]

#Cases.[I584_9]= #Controls.[I584_9]

#Cases.[I585_9]= #Controls.[I585_9]

#Cases.[I427_31]= #Controls.[I427_31]

#Cases.[I403_90]= #Controls.[I403_90] -- 6.617480 Odd Ratio
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select a ,b ,c .d

into #Match

from #Cases

join #Controls

ON #Cases.[1365_1] =#Controls.[1305_1]
and #Cases.[1309_81] - #Controls.[1389_81]
and #Cases.[IE849_7]- #Controls.[IE849_7]

and #Cases. #Controls. [1156_9]
and #Cases. #Controls. [1530_81]
and #Cases. - #Controls.[1263_9]
and #Cases.[1787_20]- #Controls.[1787_20]
and #Cases. #Controls. [1272_4]
and #Cases. #Controls. [1280_9]

and #Cases.[1486_]- #Controls.[1486_]
and #Cases.[I578_9]- #Controls.[1578_9]
and #Cases.[I584_9]- #Controls.[1584_9]
and #Cases.[I585_9]- #Controls.[1585_9]
and #Cases.[1427_31]- #Controls.[1427_31]
Jand #Cases.[1403_90]- #Controls.[1403 98] -- The sum of the controls ans cases 73804.0 --(88 rows affected)
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on

Jand

from #Cases

#Cases
#Cases
#Cases
#Cases
#Cases
#Cases
#Cases
#Cases
#Cases
#Cases
#Cases
#Cases
#Cases
#Cases
#Cases

-- Matching Cases with controls

select a ,b ,c ,d into #Match
join #Controls

.[1305_1] =#Controls.[1305_1]
.[1309_81] = #Controls.[1309_81]
.[1€849_7]- #Controls. [1E849_7]
-[1156_9]~ #Controls.[1156_9]
.[153_81]- #Controls.[1530_81]
-[1263_9]= #Controls. [1263_9]
.[1787_20]- #Controls.[1787_20]
-[1272_4]= #Controls.[1272 2]
-[1286_9]- #Controls.[1280_9]
.[1486_]- #Controls. [1486_]
-[1578_9]- #Controls. [1578_9]
-[1584_9]- #Controls. [1584_9]
.[1585_9]- #Controls. [1585_9]
.[1427_31]- #Controls.[1427_31]
.[1403_90]- #Controls.[1463 98] -- The sum of the controls ans cases 73804.0

--Calculating the overalp
Declare @TotalCases Float
SET @totalCases
FISELECT ROUND(SUM(a+b) *106/@TotalCases,2) as [Percent Overlap]
FROM #Match ---

(SELECT Sum(nCases) FROM #Cases)

The overalp is 96.62

--(88 rows affected)
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--Calculating the overalp
Declare @TotalCases Float
SET @totalCases = (SELECT Sum(nCases) FROM #Cases)
FISELECT ROUND(SUM(a+b) *106/@TotalCases,2) as [Percent Overlap]
lruon #Match --- The overalp is 96.62

EH Resuts i Messages.
Percent Overiap
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[1]: M data <- read.csv("C:/Users/salman/Desktop/HAP-823/Weeks/StomachCancer.csv™)

[2]: M data
X Cancer 3051 1309.81 1311. IE849.7 1150.9 1276.1 1276.8 1530.81 .. 1244.9 1414.01 1599.0 1414.00 1585.9 1600.00 1428.0 1427.31 1403.90 D

276009 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

61722 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
221433 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
527105 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
302029 0 1 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0
523247 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0
148258 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
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M model = glm(formula= data[,2]~., data= data[,3:37], family= binomial)
M summary(model)

call:
gln(formula = data[, 2] ~ ., family = binomial, data = datal[,
3:37])

Deviance Residuals:
Min 1Q  Median 30 Max
-1.5802 -0.0617 -0.0565 -0.0424 4.0262
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1403.90 -0.837915  0.418918 -2.000 ©.04548 *

Signif. codes: @ '***' @.@01 '**' @.01 '*' @0.05 '.' 0.1 ' ' 1
(Dispersion parameter for binomial family taken to be 1)

Null deviance: 2972.2 on 99999 degrees of freedom
Residual deviance: 2693.3 on 99964 degrees of freedom
AIC: 2765.3

Number of Fisher Scoring iterations: 10
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-- Grouping Cases Have cancer by the conditions & seperating dead column to two column A & B
EISELECT COUNT(distinct column_1) AS nCases
, Sum(ITF([Dead] = 1, 1., 8.)) AS a
, SUM(ITF([Dead] = @, 1., 8.)) AS b
. [1305_1], [1309_81]
. [1£849_7], [1150 9], [I530_81], [12639]
. [1787_20], [1272_4], [1280 9], [I486_]
. [1578_9], [1584.9]
, [1585_9], [1427_31], [I4@3_90]
| NTO #cases
FROM StomaCancer
WHERE [Cancer] = 1
GROUP BY  [1305_1], [1309_81]
. [1£849_7], [1150 9], [I530_81], [12639]
. [1787_20], [1272_4], [1280 9], [I486_]
. [1578_9], [1584.9]
B, [1585_9], [1427_31], [I463_90] --(95 rows affected)
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--- Grouping Contriols have NO Cancer by the conditions & seperating dead column to two column A & B

JSELECT COUNT(distinct [column_1]) AS nControls
. Sum(ITF([Dead] = 1, 1., 8.)) AS ¢

. SUM(ITF([Dead] = @, 1., 0.)) AS d

. [1305_1], [1309_81]

. [1£849_7], [1150 9], [I530_81], [12639]

[1787_20], [1272_4], [1280 9], [I486_]
[1578_9], [1584_9]

, [1585_9], [1427_31], [I463_90]

INTO #Controls

FROM StomaCancer

WHERE [Cancer] = @

GROUP BY [1305_1], [1309_81]

. [1€849_7], [1150_9], [I530_81], [1263_9]

. [1787_20], [1272_4], [1280_9], [I486_]

. [1578_9], [1584_9]

1, [1585_9], [1427_31], [1463_90] --(2493 rows affected)





